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Exercise 2.2

Question 1:

Find the zeroes of the following quadratic polynomials and verify the relationship
between the zeroes and the coefficients.

(i)x* —2x—8 (ii)4s’ —ds+1 (iii)6x" -3 -Tx

(iv)4u” +8u (v)1' =15 (vi)3x’ —x—4
Answer:

(i) a"—2x-8=(x—4)(x+2)

The value of x*—2x-8 iszerowhenx-4=0o0orx+2=0,i.e,whenx=4o0orx=-2

Therefore, the zeroes of x*=2x-8 are 4 and -2.

4_7-7 ~(-2) _ —(Coefficient of x )

Sum of zeroes = ] Coefficient of x°

(-8)  Constant term

Product of zeroes I Coefficient of x”

(i) 45 —4s+1=(25-1)

§=—

The value of 4s2 - 4s + 1is zerowhen2s -1=0,i.e, 2

1

Therefore, the zeroes of 4s% - 4s+ 1 are 2 and 2 .

1 I ~(-4) —(Coefficient of 5 )
—t—=]= =
2 2 4 (Coci‘ﬁcicnt of s° }

Sum of zeroes =
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Constant term

1
Product of zeroes 2 2 E Coefficient of s°

(iii)  6x" =3—Tx=6x" —Tx—3=(3x+1)(2x-3)

-1 3
x=— x==
The value of 6x% - 3 - 7xis zerowhen 3x+1=00r2x-3=0, i.e, 3 or 2
LA
Therefore, the zeroes of 6x2 - 3 - 7x are 3 2,

-1 3 7 (D —(Coefficient of x)
Sumofzeroes= 3 2 6 6  Coefficient of x*

=1 3 =1 =3 Constant term

— = = e—

Product of zeroes= 3 2 ? 6  Coefficient of x°

{iv] du” + 8w =4u” 4+ 8u +0)
=4u(u+2)

The value of 4u® + 8u is zero when 4u=0oru + 2 = 0,iie,u=0o0ru=-2
Therefore, the zeroes of Au?+ 8u are 0 and -2.

0+(=2)=-2= -(8) _ —(Coefficient of )

Sum of zeroes = 4 Coefficient of o’
0x(-2)=0= 2 - _Constant term_
Product of zeroes = 4 Coefficient of u
() res
=t —0s-15

=(f—«.ﬁ){r+ﬁ}
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The value of t2 - 15 is zero when (=15 =0 or "+“'|E=ﬂ,i.e., when

=15 ort=—+15

Therefore, the zeroes of t2 - 15 are Jis and 15 )

' — — [ Coefficient of ¢
JI5 +(—15)=0="2 = (Coeficient of 1)
1 (Cuetﬁclem of 1° )
Sum of zeroes =

( 15){_ﬁ]= 15— ~15  Constant term

Product of zeroes = | Coefficient Dlx.'l.'-‘

{vi] 3Ix'—x-4
=(3x—4)(x+1)

The value of 3x% - x - 4is zerowhen 3x - 4=0orx+ 1 = 0, i.e., when

4

Therefore, the zeroes of 3x2 - x - 4 are 3 and -1.

4 (~1)= I —(~1) _—(Coefficient of x)
Sum of zeroes = 3 3 3 Coefficient of x°
N 4[ 1) = ~4  Constant term
Product of zeroes 3 3 Coefficient of x*

Question 2:

Find a quadratic polynomial each with the given numbers as the sum and product of its
zeroes respectively.
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Answer:

Let the polynomial be ax’ +bx+¢  and its zeroes be & and B

~h

1

4 g
-4

aZffi==l=—=—

p 4 g

|fa:4, thenh=-1, c=-4

a4+ 1=

Therefore, the quadratic polynomial is 4x% - x - 4.

. 1
(ii) -.E,a

Let the polynomial be ax’ +bx +e¢ , and its zeroes be & and P

p —

A o
rzﬂ:l_i
1

If @ =3, then b =32, c =1

Therefore, the quadratic polynomial is 3x? - W2 X+ 1.

(iii) 0.5

Let the polynomial be ax’ +bx+¢  and its zeroes be @ and g
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0 b
1

a+fi=0=

QXﬁ=vE=£

| a

i
C

Ifa=1, then b=0, c =5

Therefore, the quadratic polynomial is ¥ +45 .

(iv) L1

Let the polynomial be @ +bx+¢  and its zeroes be @ and # |

Q‘-}-ﬂ:]:

axf=1=-=5

1
Ifa=1, thﬂﬂf}:—l, c=1
Therefore, the quadratic polynomial is x*—x+1

(v) -

11
44

Let the polynomial be ax® +bx+c and its zeroes be @ and B

=1 =h
o+ = —
p 4 frd
T 43
@ fi=—=—
P 4 o
Ifa=4, thenbh=1, c=1

Therefore, the quadratic polynomial is 4x* +x+1

(vi) 4,1

Let the polynomial be ax’ +bx+e
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a+fi=4=

4 b
1
1

gxﬁ=l=_=£
1 @

Ifa=1, thenbh=-4, c=1

Therefore, the quadratic polynomial is xt = dx+1 .
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